THM7EE MPUUTRARETEREFEE (F)

H =] B ] EEX =i5

4 [16(K) 15:30 | BEEER FaEq

5 |14(7k) :;22 Efi% aZa=Fst253—

14:30 |FBES - .

 [180%0 1530 |EPIEA B UIcHEs [T AT
(L) R b SRR (PAERG R D) |fe = HFhE EFRTEE
7/3(K) 16:00 | ZEFZER= izpictes
12(2)-13(8)+19(1)-20(R) - F21(F - ) [EFREAKRBTKXRE
12(E)-13(8)-19(k)-20(8)- F21(H - $) ek Rk - FwiP
12(x)-F13(R) YIbiR—IL R
19()-F21(B - 1) Gk 1 £33 IC=HFELRRES
19(£)-20(B)-21(A - $)- F22(:k) NL—HR—)L fezlg-Eep
12(£)-13(R)-#E11(%) R E TRAEE
12(£)-13(B)-19(x)-20(8)-21(A - 1) IR YRR—)L A A - RN G- BEH

7 [12(£)-13(B)-F19(L) ZE L SYAT: $TD:
12(%)-13(B)-19(x)-F20(8) YIMTZR R=HFT-21-M19HDHDDOLMNETZAI-F
5(£)-6(B)-12(x)+13(H)-19(£)-20(B)- F21(A - 8 | Hvh— KKEA - B -REEF-AMES
5(%) 7Kk MEILAER KKk
22(2))=23(7K) - F24(K) Bk tvy -7 (228) - RIAEEE(23-24R)
12(1)-F13(R) NURR—)L HEH
12(1)-13(8)-22(:k)-23(5K) TRBEXREEFKNRD) (22K ET=Ra—F
5(1)-F6(H) INFEURY TRAEE
24(KR)~ BRZREBEARERS ML - EER A ZE LS

Sakyquﬁ) AREDEERERTRE [HER
17(B)~25(A) 2EFERAFTARR AmTaysy

14:30 |5 {FEE - BEL — —=

9 [10(5k) 15:30 | EPIE & RIS aza=Fstr52—
4(£)+5(B)-11(£)-12(B)-13(B - ) IMEHREARET XRE ]
9/11(K) 16:00 | ZEMZER= icpicdes
4(x)-5(R)-11(x)-12(8)-13(A -#) ek mRIKG-H&F
4(1)-F5(H) YIbR—IL e liches
9/13(1)-F10/5(8) MEEFRE = HFhE LS
4(1)-5(8)-F11(1) NL—iR—)L MRAFE - R+
4(1)-#3(&)-F5(H) g3E WMTAEEE

10 [4(1)-5(B)-11(2)-12(B)-F13(8A - #1) INRyRR—)L AEREAEE
4(L)-F5(H) ZE B HERE
11(x)-12(8)-F13(8 - 1) VIMTZ=X DO ET=X3—F
4(1)-5(B)-11(X)-12(B)-F13(A - f) Huh— KB - BAFN o - K T 75 - FO KBt - STk
1(E£)-12(8)-F13(A - f) Bk TMRABE
4(1)-F5(H) NRR—IL Fizpiles
4(L)-5(B)-F18(1) T=X DO ET=X3—F
4(1)-F5(H) INREURY P W/NEI YN

11 [50K) 15:30 [BES taza=F1tE 48—

12 |6(£)- 5k 7£E11/29(£)-12/3(5K) ThEREREREERAS [K=H#FELIHESERUZOREID

1

2 [40K) 15:30 [BES taZa=F1tE 48—

3 BFEMBE

B $7:2025/6/18




